It appears that the imports of carbon black have been increasing by about 10% annually.
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a. Determine the logarithmic trend equation.

b. By what percent did imports increase, on the average, during the period?

c. Estimate imports for the year 2016.

SOLUTION:
The leading economic indicator is a leading indicator which measures the changes in economy among two different financial years. Moreover, leading indicator is widely used to forecast the alternations in economy however it is not always accurate. In addition to that, these economic indicators are published on monthly or weekly basis by the conference board. These indicators further used for the economy movements which record changes on the overall economy. 
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 = 1.92333 + 0.04153t, where 2006 is coded t=1.

b.
10.03%, found by taking the antilog of 0.04153

c.
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 = 2.38016, the antilog is 239.97
